B1)—4 2021 BRSO a1—)

BHfE |»79v—[NO| kickoff | #HE HOME Vs AWAY BT
9H19B | 2&8 | 1| 14:00 - | vs |SLEKBIEl E1dbiE
9H208 | 18 | 2| 14:00 - TRE= vs HFEE [7CELysB

188 | 3| 10:00 - FCALEB| s e 3
1038 | 1% | 4| 12:00 - Lukdod—X|  vs WA [ Z2ELyTB
12 | 5| 14:00 - HARfnZE vs HRE=
128 | 6| 10:00 - FCALEH| s BIRE=
108108 | 158 | 7| 12:00 - Lukso8—Z|  vs FRfEE |7YELy B
128 | 8| 14:00 - HAfMZE vs B KE
128 10| 9:00 - ITEy == vs Y S TLES
10A16H YSK
128 11| 11:00 - FCALELH| s HAfmzE
188 12| 10:00 = HARfnZE vs z2fredei b3
108238 | 1% |13] 12:00 - Lukgos—x|  vs FRB= AR
2%8 14| 14:00 - BA#MZ2nd| vs Fv AT
1%8 | 15| 11:00 - Lykyog—X|  vs BAMZE
10831H JUELYTB
2%% | 16| 13:00 - AAMZ2nd] vs | SULELBIE
1#8 (17| 11:00 - FCALELD] vs  |Lwksus—X
118218 TJUELYUB
1% 18| 13:00 - HTERBE= vs Ty =2
118238 | 1% |19| 12:00 - FCALELB| vs EIKE |[ZPELyB
2% (20| 14:00 - A7 vs | 7AILESTF
118278 AR
288 21| 15:30 - AAfiZE2nd| vs EtitiE
12848 | 2% [23]| 11:30 - Ty AYT vs EtdtiE | LEZAE
128268 | 2& |24| 17:00 - Ty AT vs | ASLEHIEl FA)7
WELFHEE | 28R |25 - E1dciE vs |Z#ILbyF HZ
12848 | 2% |22] 16:30 - BARMZ2nd| vs |[FAILbSF FAP
WL 2%f | 9 - SUELSIE| vs [ FAILRSF




B)—45 2021 RoTa—ib

HFE | »77v- |NO| kickoff BR HOME VS AWAY BT FE -8 &
258 13:00 HA&MMZE2nd VS Fo X YT 7oL voA
AR18H | 18P 13:00 FChLE<H[ s ) RS
7L v YB
15 15:00 Ly F#rg—2|  vs ISy N=
23R 10:00 SN VS FrXUT
258 11:30 HAMZE2nd| vs S LELCHIE| 7V EL Yy UA
AB248B | 1ZR 13:00 H A Z2 VS ) S ES
18 10:00 FCAHLE<H[ s Ty =2
7L v YB
128 12:00 Ly kyya—2|  vs HREBE=
4829H | 28R 10:00 THI Ry S VS SLELCHIE| 7Y LY UB
5H9H 28 15:30 SLECHIE[ s =+t |7veL v B
188 13:30 Ly Ry &—X VS H A finze
7Ly YA
23 15:30 =21 vs | HAHZE2nd
5H16H
128 13:30 FCSL &< VS HRE=
7L vYB
150 15:30 g N= VS ) S E S
22 12:00 H A finZ22nd VS THxIL by
5822H YSKZ LY
2%R 14:00 ST BIE VS Fo X))
6H6H 150 10:00 FCalLE<n|l vs |vvrors—xz|7zveryoB
158 10:00 FCARLEL<H[ s B A finZ2
7THRB10B | 1%R 12:00 Ly F9r2—2|  vs AT a2 R
28 14:00 =+ VS T XUT
THR24H 1E8 14:00 HREBE= VS K5 [YSK L s
7H31H 1E8 10:00 HREBE= VS ARmzE |YSKy Ly
LA 2%ER AN I RV =i
LA 1R H A i Ze VS HRE =
LA 1R H A i Ze VS g =




